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Troubleshooting

Faults Possible causes Remedies
The pump does notstart  No supply voltage. Check the electric connections and the fuses.
Faulty capacitor (single-phase motors).  Change the capacitor.

Rotor blocked by deposits on the impeller. Select the maximum speed and/or free the

rotor with a screwdriver.
The system is noisy Flow rate too high. Selecta lower speed.
Air in the system. Bleed the system.
The pump is noisy Air in the pump. Bleed the pump.
Intake pressure too low. Increase the intake pressure.

The pump startsand then  Dirt or scale between therotorandthe  Check that the shaftis turning freely. Remove

any dirtand/or scale

FapaHTuiHble 06A3aTeNbCTBa.
1. J3roToBuTEND rapaHTUpyeT COOTBETCTBIE 060PYA0BaHUA TpeBOBAHUAM Ge30nacHOCTH, NP ycnoBUN CobntofieHuA
noTpeGuTeNnem npaBuA TPAHCMOPTUPOBKM, XpaHEHUA, MOHTaXa U SKCNNyaTaLuu.
[apaHTHitHbIi CpoK SKCnNyaTaLun — 3 roaa co AHA NPOAAXKM.
Cpok cnyx0bl u3nenus-+e menee 10 neT, npu cobniofeHUM YCNOBMIT MOHTaXa 1 SKCMNyaTaLuu.
2. [apaHTyA pacnpoCTPaHAETCA Ha Bce AedeKTbl, BO3HHKLLUE N0 BUHE 3aBOAA-U3r0TOBUTENA.
3.TapaHTUA He PacNPOCTPAHAETCA Ha leheKTbl, BOSHUKLLME N0 BUHE NOTPEOUTENA B pe3ynbTaTe HapyllleHus Npasun
YCTaHOBKM M 3KCMAYaTaLIMW, @ TAKKe NPU HANMYMA MEXaHNYECKHX NOBPEXeHMiA.

CepBUCHDBIN LEHTp.
MockoBckas o6nactb, Jliobepewkuii paiton, r. KotenbHuku, HoBopasackoe wocce, 4. 6 B,
Ten.: +7 (495) 543-96-15; +7 (495) 543-96-18
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«Zhejiang Wigo Pump Co., Ltd.»

No.288, Donggiao Middle Road, Dayangcheng Industrial Zone, Daxi Town,
Wenling, Zhejiang, China

WUmnoprep:

W EH [ C € 000 <POM TEXHONOT Ui
WeSter 109428, r. MockBa, Pasanckuii npocnekT, 4. 10, cTp. 2, nom. VI, KomH. 10

2308B. 50 My
IP 44

Make. 1,0 Ma

Maxc. 110 °C

HL C€

Hacoc umpkynaumuoHHbIi

WCP 25-40 G 130

INSTALLATIONSANWEISUNG UND WARTUNG
INSTRUCTIONS FOR INSTALLATION AND MAINTENANCE
PYKOBOACTBO 110 MOHTAXY

www.wester.su



1.0 MPa (10 bar)
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min.: +2 °C
max.: +110 °C




